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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-I11 « EXAMINATION - WINTER 2013

Subject Code: 3335003 Date: 28-11-2013
Subject Name: Surveying and Leveling
Time: 02:30 pm - 05:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
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State and explain the principles of surveying.
Define Representative Fraction. Describe characteristic of an ideal scale.

A 20m chain was found to be 15cm. too long at the beginning and 5cm. too

short at the end of survey work. If distance measured by this chain is 1000m,

calculate the correct distance.
State and explain various types of obstacles encountered in chaining and
ranging.
OR
Write short note on open cross staff.

Distinguish between
)} True meridian and Magnetic meridian
i) W.C.B and Q.B
What is local attraction? How does it affect compass survey?
OR
Calculate the interior angles of closed traverse ABCDA from the following
observations and apply check.

Line F.B B.B

AB N 46°10°E S 46°10° W
BC S60°40" E N 60°40" W
CD S9°50" E N 9°50° W

DA N 80°40°W S80°40° E

i) Convert the following whole circle bearing into quadrantal bearing.
1) 42°30° 2) 242°45’

ii) Convert the following quadrantal bearing into whole circle bearing.
1) N 70°15° W 2) S32°15’ E

What are the uses of contour map?
The following readings were taken with a dumpy level.
1.800, 2.565,3.805,4.020,1.960,1.705,1.595,1.365,2.540, 2.005, 3.145

The instrument was shifted after fourth and seventh readings. The R.L of first
reading is 100.00. Prepare the page of level book. Calculate R.l of each point

and apply usual check.
OR
Define the following terms: i) Back sight ii) Change point iii) Line of
collimation iv) Bench mark
Explain temporary adjustment of level.

Write short note on:

07
07

07

07

07
07

07

07

07

07
07

07

07
07



i) Testing and adjustment of chain
i) Closing error of traverse

(b) Draw typical sketch of Prismatic compass. Label the parts. 07
OR
Q.5 (a) 1) Give conventional sign /symbol for the following: 04

Wire fencing, Railway line, Telephone pole, Temple, Survey station, R.C.C

work, Brick masonary, Gate

ii) State full forms of following abbreviations : 03
D.P.C,G.L,RL,GTS,FS,CP

(b) Construct scale having R.F= 1/2500 and show 226m distance on scale. 07
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AlEal gk Ao as alo
AB N 46°10’E S 46°10° W
BC S 60°40" E N 60°40" W
CD $9°50" E N 9°50° W
DA N 80°40°W S 80°40° E
ol 1) oAt Yalgd Aol gute AoUHL ¥R 09

1) 42°30° 2) 242°45
2) o{lAstl gue AR YRlg AL ¥R,
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1) N 70°15" W 2) S32°15’E
ysl ¥ al AR el GOl s.ULAl.

ol Sl Aade(l Heedll olAoll WAASA AcllHl WAA B,
1.800, 2.565,3.805,4.020,1.960,1.705,1.595,1.365,2.540, 2.005, 3.145
Add AU M UdHl HAASsat Ul GolacllHl WA & ua yux

WAsel AAHSE UR AalHl wAd .8l el Gus 100 Hle? B.
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2) ollAsll gSlaRA HIE AL ol 3.
D.P.C,G.L RL,GTS,FS CP
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R5H AR vl
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